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Here are some questions and a challenge. The answers have been attached at the end. Don’t take a peek, solve the questions first!
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Challenge answer
T-shirt £18
Ready for a challenge answer £8.50
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Complete these multi-step problems by selecting the correct operations to complste the
calculations.
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2
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4)

5

B}

Six pencils cost £1.92. Three pencils and one rubber cost £1.21.
What is the cost of one rubber?

A stack of 40 identical toy boxes is 1000cm tall. Markus takes three boxes off the top of
the pile. How tall is the stack now?

Mrs Tunnicliffe is making jam to sell at the county fair. Blackberries cost £5.50 per kg.
Sugar costs 65p per kg. 15 glass jars costs £5.85. She uses 16kg of blackberries and
10kg of sugar to make 15 jars of jam. Calculate the total cost to make 15 jars of jam.

A school orders 12 boxes of dice. Each box contains six bags of dice. Each bag contains
35 dice. How many dice do the school order in total?

Mikel thinks of a number. e multiplies the number by 100, divides
it by eight then adds 6.50. The answer is 1206.5. What was his
starting number?

Eight small bricks have the same mass as three large bricks.

The mass of one small brick s 1.5kg. What is the mass ¢ {\
of one large brick? §
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7)  Abag of five bananas costs £1. A bag of four grapefruits costs £2.40. How much.
more does one grapefruit cost than one banana?

8)  Erica chooses a number. She divides it by four then subtracts 1. She then divides this
result by two. Her answer is 12.5. What was the number she started with?
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Buying Blue
Daniel didn't have any blue clothes for “Wear Blue Day' so his mum said she'd buy him some.

« She spent £76 on jeans, a t-shirt and a pair of trainers.
« The jeans cost £22.
* The trainers cost twice as much as the t-shirt.

. How much was the t-shirt?
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Ready for a Challenge?

The following day shoes are reduced by 15 percent, trousers by 10 percent and tops by
5 percent. How much would Daniel’s mum have saved if she bought the outfit the
following day?




image5.png
Qustion

Answer

Sixpencils cost £1.92. Three penclsand one ruber cost £1.21. What isth cos of on rubber?
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